ATS QUESTION BANK

WELDER (GAS & ELECTRIC) THEORY LEVEL-1

Q 1. Which of the following is an advantage of welding process?\
Fafafea & 3 o197 a1 i@ ufsar &1 T TH 82Which of the following is
an advantage of welding process?\ fgfafea 7 9 I I1 AfET ufpar o1
UTdh Y %?Which of the following is an advantage of welding process?\
Fafafea & 3 &7 a1 3@ ufsar &1 TH TH 82Which of the following is
an advantage of welding process?\ fgfafea 7 9 I IT AfET ufpar &1
TdH Y 82

A). It can be done quickly\ _'57?[ STeel far ST g&dr %

B). It makes a strong joint\ dg HSIdd \ﬂ\ls SEIR] %

C). Two dissimilar metals can be joined\ o fua ﬂTﬂe’ﬁ Cal \_rﬁgf Sl Johdl %l
D). All of these \!?{ gt

Q 2. is used to protect the eyes and face of a welder from arc

radiation and spark during arc welding. \ ___ BT YA 3P AfET &

X193 fafesor oy M & e Bt SifEl ok I8y &t e & oy foa
ST B

A). Apron\ TUH

B). Welding hand screen\ ali?é‘l %US Thi
C). Chipping goggle\ fafdT gz

D). Safety shoe\ g&T Sd

Q 3. Which of the following gas does not burn itself but is helpful in

combustion?\[NEIRAd & I o7 & 79 Wy 78 9adt g Afea g &
IgIa® B2

A). Oxygen\ KIESISE]

B). Nitrogen\-_—ng?ijf:f

C). Argon)\ 3t

D). None of these)\ _s':fff I ﬁé’ I8l

Q 4. The source of heat in electric arc welding is

IR § o™ &1 A T |

A). Friction\ Sk



B). thermit\Uﬁ‘ff‘.r
C). gas flame\ g ward
D). electricity\ IFEN]

AT IfET & S BT

@ g B
A). voltage\ A

B). thermit\%[ﬁf_cr

C). gas flame\ g o1l
D). electricity\ fasrent

Q 6. Which of the following equipment is used in arc welding ?\ fAg T3
S I IUBIV 3MFh fET & IuAT fobar ram g2

A). Electrode holder\ sadt;\\ls S\IQ'SQ
B). Oxygen gas cylinder\ SffgiorT g fRfdse
C). Welding blowpipe\ afeET §$:ﬁ
D). None of these)\ 3:fff I ﬁ% :fg'f

Q 7. Which of the following equipment is used in gas welding ?\ ﬁgﬁﬁ
P19 I IUHIO A9 af&ST & IuA foar oran g2

A). Gas regulator\ g Aarae

B). Oxygen gas cylinder\ fgdtsT 19 ffdsy
C). Welding blowpipe\ af@ §3$:ﬁ

D). All of these \ﬁ g

Q 8. Which of the following is a metal joining process?\ fFafafea & 9 &9
W@ TH g Sred B gfsar g2

A). Welding\ afET

B). Brazing\ CIE]

C). Riveting\ Rafém
D). All of these \ I gt

Q 9. Which of the following method makes a permanent joint?\ fgd v

oI O fafy v Tyt s clt 82

A). Welding\ af@T



B). Riveting)\ Rafén
C). Bolting\ SifeeT
D). None of these)\ ‘s’:rff I aﬁ‘s‘ '_ﬁﬁ

Q 10. Identify the given equipment.\ﬁq T 3UDRT] P Ugdl- $§|

A). Tip cleaner \ I NIGE

B). Welding screen) If@T wia

C). Electrode holder \ sac@s G\IC'SQ
D). None of these)\ E"Taf I ﬁ% '_-[33['

Q 11. Which of the following statement is true about neutral flame?\

I saren & 9 & Fufafed § @ &9 9 HYT 98 g2

A). Complete combustion takes place in this flame.\ 9 SdIdl | ELUT Qg
BT g

B). For welding mild steel neutral flame is used.\Hg 3@3@3%”%%12
IS Sardr &1 Iy fHar Srd g |

C). There are two zones in neutral fIame.\BFaT?ﬁ'_‘f Sarar | a \_?h'_‘f s‘r?r % |
D). All of these\ T gt

Q 12. Which gas is produced when reacting with calcium carbide water? \

Ffgy Fraigs & 9 I AfNfpar 9 g ST A 79 ITF g1 g2

A). Acetylene\ Qﬁ[ﬁ?ﬂ:{
B). Oxygen\ RIESISE]
C). Nitrogen\:ﬂgfﬁ\_ﬂ:f
D). Argon\ 3T

Q 13. Which type of oxy-acetylene flame is used for welding mild steel?\
Og sWd Bt Af@T HIA & [T fog gasR of siwd- efyfed= sarem &1
U fHar e B2

A). Neutral flame\ I Sardr

B). Oxidising flame\ RN BING SaTdl
C). Carburising flame\ HISTATTT STl
D). Acidic flame\ AT Sardl




Q 14. Which of the following is not a type of oxy-acetylene flame? \

Fofafaa & ¥ ST, sifwdt- tRifeda sarar &1 te s T8 g2

A). Neutral flame\ G’ET‘V’FF[ o[l

B). Oxidising flame\ STRITBIRD Sarel
C). Carburising flame\ HTITITTT ATl
D). Acidic flame\ AT SaTdl

Q 15. What is the chemical formula of acetylene gas?\ Qﬁﬂ%?ﬁ:f g &
JWAFAE I 71 T ]2

A). CH
B). CH2
C). C2H2

D). None of these \ 3?'13[ I ﬁé | :fébf

Q 16. Identify the type of oxy-acetylene gas flame shown in the picture. \

g & coid U sRi-ufyfed= 79 Saren & UHIR &I Ugw=T BN |

A). Neutral flame\ I sardr
B). Oxidising flame\ 3GUIBHIXD SATAl
C). Carburising flame\ ®TSTTTYT AT

D). None of these \g:ff[ | ﬁ_s: i '_‘Té:f

Q 17. Oxygen is approximately ____ % in the atmosphere.\ ?ﬂgﬂ"s’a |

sifeftea ayT % Bl B |
A). 78

B). 0.03

C). 21

D). 7

Q 18. What is the chemical symbol of oxygen gas?\ SfiyorT g &1
g gdte o grar g2

A). C

B). CH
C). N2
D). 02



\ SRS g Ryfersz

HIIM AT ® |
A). green\gXl

B). black\hIdl

C). red\dld

D). blue\AIdl

Q 20. The work of gas regulator is

A). getting different types of flames\ﬁf‘l\-fﬂ OB DI SaTarsdl bl U HAl
B). mixing the mixture of gases into the expected proportion\ﬁ@f & fargor
&l SUfdra srqura ° e

C). to clean hose pipe\ 819 UISY &I ITW HIAT

D). setting up the working pressure\WﬁWﬂ T B T HIAT

Q 21. Nozzle of gas welding blowpipe is made up of which metal?\ ﬁﬂ

Af@T GHN & A9 g arg ¥ 971 g 82

A). Mild steel\Hg WId
B). Copper\ didl

C). Cast iron\ ?EFTEIT ?ﬁBT
D). Tin\feT

Q 22. Identify the equipment shown in the picture. \ﬁﬁ o E{Qﬁﬁ Ry
SUHIU Bl UgATH B |

Ashaare”

A). Gas regulator\ g Raas

B). Welding blowpipe\ afET §$:ﬂ
C). Tip cleaner\ IR NIGES

D). Spark lighter\ s NIEESS

Q 23. Which of the following is used as a flux in brazing?\ﬁgﬁ“{f@a 73
fEa® SuaT o § mae & w0 F feHar o g»

A). Borax\aafs\’aﬂ



B). Boric acid\ SIR® TS
C). Both borax and boric acid\ I 3R aRE Qf@f@ Eff:ﬁ
D). None of these \g:ff[ I ﬁ‘s‘ '_‘TBQ[

Q 24. Which of the following flame is suitable for preheating before flame

cutting? \ Fafifad & @ &9 W@ soran, saren ¢ T yga T & fau
IUgad gt 872

A). Oxidizing flame \3‘|'Ta¥ﬁ$ﬁ$ STl
B). Neutral fIame\GaTFﬁ:f odldl
C). Carburizing flame \ HTSTATTT SaTal

D). none of these \ ‘s=rfr I aﬁs‘ :Tébf

Q 25. What happens if a very little oxygen is supplied in gas cutting? \ ?[H

wfeT ¥ af 9gd &7 sifRiier= &1 enyfd &t St g, @ o1 gran g2

A). The metal will be cooled down \ YIq XS] E’Pf \_rlTETﬁ

B). The kerf will be narrow \ Obl:% GBI I

C). The kerf will be wide \ W ST AT

D). The metal will not cut completely \ UTd E[\Ufatﬂ CH| T

Q 26. Which of the following is a type of manifold system?\ IEECINITEG] 7Y
®IF A 9gfay gunedt &1 UF US;R g2

A). Portable\ PICE]

B). Stationary\ R

C). Both portable and stationary\ T 3N XY a:ﬁ
D). None of these)\ E':Tﬁ I Eblf_sc :ng

Q 27. Identify the welding defect shown in the picture. \%5[ A E{Qﬁﬁ T
3f&ET Y B ygAH |

o

kA
G { ]
\ VY
. i L

A). Overlap\3NaXAY

B). Undercut\38€I®HC

C). Crack\aXI}

D). Lack of fusion\ <l &t HH

=




Q 28. Name the gas welding defect in which number of pinholes formed
on the surface of deposited metal. \ﬁﬂ af@T E?[E[ ®1 911 ddiu SEERSE]
4Td P! Tdg U H3 U8 g9 91 7 |

A). Crack\aXI}

B). Porosity\ fefaad

C). Lack of fusion\ I &t HH

D). check and forget method\Sd YT Hd fafa

Q 29. Which of the following equipment is used in oxy-acetylene gas

cutting?\ Fafaf@a & I o9 1 IusI fwit-tfafeda 79 wfdn & Iuam
far sar g2

A). Spark lighter\ TTh NIEXES
B). Tip cleaner\ feu FiteR
C). Cutting torch)\ CAIRE]
D). All of these \ I gt

Q 30. Which of the following metal can be cut by oxy acetylene gas

cutting process?\FEfIRAT & ¥ fow urg &1 st tifedhi= A9 &= ufban
I oIl ST gHal g2

A). Mild steel\HJg ¥Td
B). Aluminium)\ Q@Iﬁﬁqﬁ
C). Copper\?‘ﬁaﬂ

D). All of these\ I gt

Q3. is the property of substance to oppose the flow of

electric current passing through it.\ _ ety &1 I % SIS ED
ey § TR ard fagga o1 & garg &1 Ay s g

A). Electric current\ ﬁ?{ﬁﬁ YT

B). Electric resistance\ﬁ?{ﬁ?‘f ufady
C). Conductivity\dlIdddl

D). Voltage\ A

Q 32. If V= voltage, I= current and R is the resistance of an electrical

circuit then which of the following relation is correct according to Ohm's
law?\ If3 v = AR, | = HIT 3R R TH fAgga uRuy &1 ufady g, @t Ay A
T BIT 91 G§Y 3NA & NgA & AR 98 82




A). 1=VR
B). R=VI
C). V=IR
D). None of these)\ ‘s':rf{@ra?ré B

Q 33. Which of the following is a conductor of electricity?\ fFafafea# 9
oI faggd &1 gara® g2

A). Wood\ Ff$:’fﬁ

B). Glass\ G|

C). Copper\ GICI

D). All of these \ & gt

\ 3afae® o afeET

Q 34. Electric arc welding is also called as

DI Wt g STar g |

A). MAG
B). MIG
C). MMAW
D). TIG

Q 35. Which one of the following can be used as a power source in arc

welding?\ 3% 3f@T & Fgfafed 7 ¥ fege Sudiv e wfed 9ig & 0 A
far o1 gpar g2

A). AC welding transformer) T;N:ﬂ af@ aﬂtﬂﬁ?
B). DC motor generator) ST AeY Javer

C). Rectifier set\ YfFeHmaR Ae

D). All of these \ & Tt

Q 36. What type of transformer is used in arc weIding?\x’ﬂT% IfET # o9
gHIR & STAWIHR &I IUAMT far Srar g2

A). Step-up\G'ElTZﬂ
B). Neutral\ ARG
C). Step-down\\’a{qiﬂzﬁ

D). None of these\ 5"H:I' I qﬁé I8!

Q 37. Which of the following is a part of DC welding generator?\ fAafafad

T J oI S AT I 1 Uh Bw B2



A). Armature\ MHTR

B). Commutator\ 3311’1%_6?
C). Yoke\ NFH

D). All of these\ I gt

Q 38. Which of the following is a disadvantage of DC welding?\ ﬁyﬁﬂ@a

A q P9 S Af@ T &1 JH AT 72

A). Higher initial cost\ 3™ I R EAIEI]

B). Higher operating cost\ 3= SIRCINE RIS
C). Higher maintenance cost\ 3= ¥QAXMId dd
D). All of these\ & I

Q 39. Which of the following is weld symbol for fillet joint? \ fAofafaa o
J B I fhde g & T 3w udis g2

A).

Q 40. A complete welding symbol consists which of the following element?

\ T guf af&T udite & Mufafad & 9 o9 w1 sragq giar g2

A). Welding elementary symbol\ If@T mfv® gdie
B). Supplementary symbol\ YIh Ui

C). Reference Iine\ﬂ.aﬁ%@ﬂ

D). All of these \ T T+

Q 41. Which type of arc length is used in plug and slot welding?\ Wil 3R
Wiie AfET # {59 PR Y 3 ddrs &1 IuAIT fobar Srar g2




A). Normal Arc length\ IIHI 3Th am%
B). Long Arc length\ A 3Th amn‘s‘
C). Short Arc length\ Y 3Th FTWT‘%C
D). Zero Arc length\ [ 3H ?TWTE‘C

Q 42. arc is used for positional welding.\ 3 HT ITANT

T yad af@T & faw fear srar g1

A). Normal\ HTHTY
B). Long\ GEC]
C). Short\ dY
D). Zero\ YU

Q 43. Which of the following welding position is the easiest to welding? \

Fofafag d ¥ &7 @t Ifn U I T & T ga9 srarT 82

A). overhead\ IEEICE]
B). Vertical\ Feafux

C). Flat\ HUIC

D). Horizontal\ @fﬁf\_ﬂ

Q 44. In straight polarity the electrode is connected to the

terminal of electric power source.\ 9l §ddI | 5810@6 ﬁ?{ga fd g
% cfifaa @ a1 e B

A). neutral\GaT?ﬁ:f

B). positive\YATHD

C). both neutral and positive\ REARIE] 3T YTTHAD G|
D). negative\ BUTHD

Q 45. Which of the following is not an electric welding process? \

fAufafed & ¥ &9 ts fagga af&w ufeear 78 g2

A). Electric arc welding\ ﬁ@’ﬁa 3Th AfET

B). Gas metal arc welding\ g 4rd 3P afET

C). Oxy-acetylene gas welding\ 3TeRdt- Qﬁﬂ%?ﬁq g af@T
D). None of these \ 3'_'“3[ I ﬁé | '_'TE-?['



Q 46. Brass is an alloy of copper and

EERIGE

A). aluminium\ QFﬁfﬁﬁqq
B). zinc\ Sl

c). tin\fed

D). steel\ SId

Q 47. Identify the welding defect shown in the picture.\ CER:| E{'Qﬁ?}l RILY
af@T A & g

A). Overlap\\?rha?aq

B). Undercut\3€IH <

C). Crack\aXIX

D). Lack of fusion\ T I HHI

Q 48. Which of the following is an external arc welding defect?\ ﬁf'ﬁﬁ‘f@ﬁ
d 9 @I O 91 od AT AV 72

A). Undercut\3€IHhc
B). OverIap\Gh?ﬂ'aq
C). Spatter)\ We

D). All of these \ef gt

Q 49. Which of the following is another name of gas metal arc welding ?\

fofafed & 9 o7 91 719 ug o1 AT &1 I 717 2

A). MIG welding\ MIG 3f@&T

B). Plasma welding\ WIlvHl afeET
C). TIG welding\TIG If&T

D). None of these)\ 37‘[ﬁ I ﬁ‘s‘ :f_sgf

Q 50. Which of the following is a basic equipment for a gas metal arc

welding setup?\ FUARAT & & 19 W1 A9 u1g oM AfET & Ae3U & faw
A STUBI 87



A). Welding power source) IfET wfgq w@id
B). Wire feeder\ dgR BIER

C). Welding gun\ ClGURIG

D). All of these \ef gt

Q 51. Which of the following is an advantage of gas metal arc welding?\

fAofafed & 9 &7 a1 9 arg o AT &1 @Y B2

A). Thick and thin material can be welded\rﬁé 3T gad AW H A fhar
ST &l §

B). Welding in all positions can be done\ gt fufadl o AfET &1 51 &t
g

C). Deposition rate is high\3= g v Eﬁ?ﬁ%

D). All of these \ T Gl

Q 52. Identify the welding defect shown in the picture.\ IEER:E-LUE] q
Af&T A & ugAIA|

-

A). Overlap\\’rha?aq
B). Undercut\38I&H T
C). Porosity\ fesfaadn
D). Lack of fusion\ TTd- &t HH

Q 53. What does FCAW stands for?\FCAW 9 &1 HfHUTIg g2

A). Flux Cored Arc Welding\ eIsRd PIS 3Mb aAfcET

B). Full Cored Arc Welding\p'd IS Mp afcET

C). Flux Cored Automatic Welding \UcIdd P nerafes af@w
D). None of these)\ _"q':[ﬁ I aﬁé :fg:f

Q 54. Which of the following inert gas is used in MIG welding?\ Fafafad
a9 DT I sifera 19 &1 ITAWT miG Af@T A foar orar g2

A). Argon) 3T
B). Xenon\ @f:ﬁ:f
C). Oxygen\ KIESINE]
D). Nitrogen\:lT's'_QPf\_rf:f



Q 55. Which part of Gas metal arc welding set controls the speed of wire
electrode and provide the path for welding current and gas flow?\ g Yrd
3 Af@T YT & DT W B aR sAwRIE $F 717 & [ERT I g iR
af@T 41x1 iR 19 yag & AT Y yard &1 g»

A). Welding power source) If@T wifdq w@id
B). Wire feeder\ dIOX HIgY

C). Welding gun\ CICHKIE]

D). Shielding gas cylinder\ gfRkzef Ty Rfdse

Q 56. The electrode used in GMAW is in form.\ GMAW H Ugad

3AFIS Y H g g

A). rod\ RUE)

B). spring\ &
C). coil\ CIEK|
D). wire\dladx

Q 57. Which of the following is a defect in GMAW?\ ﬁuﬁ«r@a T ﬁ:f
GMAW H TS QY g2

A). Undercut\38IHT
B). Spatter)\ el

C). Crack\aXIRX

D). All of these \ﬁr Tt

Q 58. GTAW is also known as
=0 H ot 9741 S g

A). TIG
B). MIG
C). MAG
D). MMAW

Q 59. What is the purpose of the high frequency unit available in TIG
welding machine?\ TIG If&ET AT ¥ Iuds I 3NIRI P13 HT YA
g ?

A). Starting the arc\3ﬂ$ BT I HIAT



B). Increasing Arc VoItage\3ﬂ$ diecar H Q’@ DAl
C). Reducing welding current\ If@T 41T B HH HIAT
D). None of these)\ ‘5’?[1?{' I aﬁ‘s‘ :r‘s‘T

Q 60. Name the welding process shown in the picture. \ﬁ[ﬁ H _Q”:IlfQ Ty
af& T ufebar &1 419 9y |

Electrode

Gas
Supply

D). MMAW

Q 61. In straight polarity of TIG welding, % of the heat goes to the

% T sUHIS

electrode end.\ TIG AfET &I JIA gaar & drY &I
¥ g ST |

A). 30
B). 50
C). 70
D). 100

A\ TIG af&T H

BRG]

A). Copper\ didl

B). steel \Eefa

C). tungsten\ TI¥H
D). zinc\ﬁrf$

Q 63. Name that welding process that maintains electric arc between non-
consumable tungsten electrode and the base metal?\ 39 afET ufesar &1

Y FA1 S TR-IUUT e IAHRIS X 99 Acd & o faggd s oI

§T Y@ B2

A). TIG
B). MIG



C). MAG
D). MMAW

Q 64. Which of the following is a part of gas tungsten arc welding torch?\

Fofafaa & ¥ &7 a1 A9 T 1dh AfET i< &1 U B 82

A). Collet\ ®ifde

B). Nozzle\ AT

C). Collet holder\ ®IfeIT BT
D). All of these \ T T

Q 65. There is a standard colour indication for tungsten electrodes. Pure
colour.\ ST ARSI & [T TP
3 @ fafga faar wnar g1

tungsten is marked with

% I A6 d gial g | PG <TTEA Bl

A). green\gXI
B). black\®Tdl
C). red\dld
D). blue\ el

Q 66. The color of the argon gas cylinder is A T g Ryfeisz &

gl AT |

A). green\gXl

B). black\ Il

C). red\dld

D). peacock que\Iﬁ?fftqu e

Q 67. Identify the welding joint shown in the picture. \ CER:| E{Qﬁﬁf Ry
afcET SI's &f uygad &Y |

A). Tee joint\?.pf\_rhg

B). Corner joint\ BT \_rﬁ_s'
C). Butt joint\ §¢ SIIg

D). Lap joint\ g Gﬁg



Q 68. Which of the following is an advantage of Pulsed TIG welding? \
fofafed & 9 o197 91 uws 116 If®T F TF BraQr §?

A). Less distortion\ H fawgu

B). Better penetration with less heat \H [ > 1Y é‘s’a? ﬁa"r%;‘zr:f

C). Both less distortion and better penetration with less heat \ ®H fawgo
MR HH S & 1Y IgaR TAewT gl

D). None of these)\ _s':fﬁ I ﬁé :{‘5‘1'

Q 69. What is the name of the defect in which the weld metal did not melt
with base metal in TIG welding process? \ 39 Y &1 1 ATH % EREELS]
o1 TIG AT Ufhar § snumR u1g & WY A% UgAd § ?

A). Porosity\ fesfaardn

B). Lack of fusion\ T I HH
C). Undercut\&f_s'T$E

D). Crack\GXI}

Q 70. Name the welding process shown in the picture. N\cEE:] T g
af@™ ufear &1 919 9a1d|

[ " -

A). Electron beam welding\ 3@[5@'[:[ 7 af@T
B). Plasma welding\WIISHl af@T

C). Submerged arc welding)\ JIAS S 3P aAfET
D). Thermit welding)\ yfife afEgm

Q 71. Which type of flux is used in submerged arc welding?\ﬂaq\_rf_s' 3H
AR A 5T UBHIR & MAS BT YA fHar Srar g2

A). Granular\ HUTHTHT

B). Powder\ ?J\UT

C). Paste\ R

D). No flux is used\ ®Is MAP BT ITAT 78! far orar §

Q 72. The electrode used in submerged arc welding isin

ITASS 3P afET & ygad saaeis EUH g gl

A). rod\ RUE)



B). spring\ &
C). coil\ ;ﬁ‘s’a
D). wire\dladx

Q 73. Which of the following is a part of submerged arc welding machine?

\ Fafafed & § o9 g9ass nd IET g &1 v . g2

A). Flux hopper\ TIH ETUY
B). Wire feeder\ dIOX HIgY
C). Power source\ yfed W@id
D). All of these \ & gt

Q 74. Which of the following is a type of resistance welding process? \

Fofafaa 7 ¥ &7 9 ufady IfET ufhar &1 v uaIR 82

A). Friction welding\ gy 3T

B). Electroslag welding\ 5(-'\10@%(?1” afegT
C). Seam welding\?ﬂq @

D). None of these)\ g:fff I ﬁ% :fg'f

Q 75. In which of the following welding process pressure is applied on the

joint?\ Fofafea & ¥ f&g IfET ufpar & sis ux garg qmar ondr g2

A). Resistance welding\ fady afET

B). Gas metal arc welding\ K| rd e AfET
C). TIG welding\ TIG df&™

D). All of these\ & T}

Q 76. In which of the following welding process electrode is in the form of

rollers? \ AT & ¥ frg afET ufsar & saFIs A & T H 81d §?

A). TIG welding\ TIG afc&™

B). Seam weIding\?ﬁ'q af@T

C). Spot welding\ Wie afET

D). Gas metal arc welding)\ g 4rd P afEgT

Q 77. Which of the following is not a type of cast iron? \ fFofifea 7 @
®IF el Qg BT TH UHIR I8! 872

A). White cast iron \HQ’TCI edar F‘ﬁET



B). Malleable cast iron \ aTda =g gdar FﬁET
C). Ductile cast iron \ dd edar FﬁET
D). Yellow cast iron\ W edar FﬁBT

Q 78. Heating the job before welding operation is known as
AR yaras ¥ ugd Sd DI TH HIAT & &9 F A1 S

A). hardening\$_c'>3[?UT
B). post heating\U¥ diu-d
C). pre-heating\ q\a‘?ﬂq:{
D). quenching\ RHC

Q 79. An alloy of iron, chromium and nickel is called as

gy M Red & Ay arg & HE a8

A). brass\ aiad
B). bronze\ kS|
C). stainless steel\ LAY Wd
D). solder\@f('_srq

Q 80. Which of the following is an arc cutting and gouging process?\

Fofafag & ¥ S19-3t e snd HieT ix mIfor ufear g2

A). Air arc cutting process\ dlY 3w HfeT yfear

B). Plasma arc cutting process\ WIlGHI s HfeT ufear
C). Carbon arc cutting process\ P 3P HfeT ufear
D). All of these\ & T}

Q 81. Which of the following welding process can be employed for welding

mild steel? \ FAfafad & ¥ &9 @ afEw ufsar &1 gg swd & AT &
farg Fafsra fear o wwar g2

A). Arc welding\ 3P afET

B). Oxy-acetylene gas welding\ STeRTT- Eﬁ[ﬁ?ﬁ:{ g afET
C). Gas metal arc welding\ g Yrg 3P afEg™

D). All of these\ T gt

Q 82. What does W stands for in WPS?\ WPs & w ¥ &7 3furg g »



A). Work\ d®

B). Worker\ JHI

C). Welding\ af@T

D). None of these)\ ERCES) Ehlf_ﬁc I8l

Q 83. Test in which, specimen is tested without breaking is called

\ 519 gfteor &, 991 B o A dheror A srar g, 39
H8d ¢

A). Destructive test \ ICRIRIGED U'\PI&‘IUT

B). Non- Destructive test \ 3{fdTTHD g &l
C). Tensile strength test \ dd qra Uﬁ&‘[UT
D). Semi destructive test\ 3‘[?& far@® gdeo

Q 84. Which of the following is a non destructive test?\ﬁ'ﬁﬁ'ff@ﬁ T ®a
1 Up AfgTIHES ufew 22

A). Ultrasonic test\x’ﬁ@T@fﬁTﬁ gteor

B). Magnetic particle test\ qwaﬁu U g &
C). Radiographic test \ Xfearmfr® gdero

D). All of these)\ T gt

Q 85. Name the equipment given below.\ CIERED T 3UD U bl ATH
CRIp

A). Tip cleaner)\ ICEESIGES

B). Spark Iighter\@T$ NIEERS

C). Weld gauge\ CIGRIS]

D). None of these)\ Er:fﬁ I ﬁé :{‘s‘T

Q 86. What does R stands for, in PQR?\ PQR & R ¥ &1 YUY § ?

A). Read\ﬂg

B). Run\ X

C). Record\ s

D). None of these)\ E':Tff I Eb;f'sc gl



Q 87. Which of the following is not an arc welding process? \ IERCINIEG] H

J DI TP 3D IfET ufepar 98 g2

A). Electric arc welding\ ﬁﬂ:ﬁﬂ & afET

B). Gas metal arc welding\ T rd 3T AfET
C). Resistance welding\ gfay afcET

D). None of these \_"Qr:ff[ I ﬁs‘ i :fépf

Q 88. Which of the following is welding safety apparel? \ﬁHﬁf@ﬁ =ik
P19 1 AT gan gkt g2

A). Welding apron\ afET TY+

B). Welding hand gloves\ afeET %Us cfoY
C). Hand sleeve\ %’US' g

D). All of these \ I gt

Q 89. Identify the tool shown in the picture. \ﬁﬁf H ?{Qﬁfr ma SN B
g8 |

A). Tong\ T

B). Chipping hammer\ Bl %IR
C). Wire brush\ digY d¥[

D). Tip cleaner\ feu afaR

Q 90. As the thickness of the material to be welded by arc welding
increases, the welding current required .............. / SId 3P afEg™ Ky
JwE fFa o7 arad uerd &t Mers gecd g, @ nawd AfFET BT -

A). Increases / dgdI %

B). Decreases / Ycdl %

C). Remains the same / HIH Igdl %

D). May increase or decrease / d¢ gl Y< b dl %

Q 91. The type of current preferred for welding non-ferrous metal is

............. / g urg &t af@T & fauw g wic &1 yaR




g g |

A). High frequency alternating current / 3= &Tq% gargdl 41T
B). Low frequency alternating current / 34 Wq% gargdl Y1
C). Direct current / fase

D). No preference / El')A[_sc aadr :ng

Q 92. The material used for coating of electrodes is called ..... / 3@[3@3 G
HIfT & T IUAIT >t A1 aredt AW B Ca ARSI

A). Slag / YTdHdA
B). Flux / BT
C). Sticker / THY
D). Binder / §YH

Q 93. Is it OK to wear nylon clothing when doing welding? / I af@T
HId GHY I S HUS U1 gl 872

A). No, it causes too much sweating / :fﬁ, 3?@ dgd g ema %

B). No, it can catch fire easily / &I, I 3T ¥ T UHT JHdl &

C). It's fine, you can wear it / I8 3P g, 30 Y UG AHJ §

D). No, because it can create static electricity and cause shock / -_-TBCT,
Hifer 98 Wad Qo ITT B IS § 3 FTH & SRV §9 IH T §

Q 94. Acetylene can be prepared by chemical reaction between / Qﬁ[ﬁ?ﬁq
______ & g warafe gfafear g1 dur fear o 9% d g

A). Water and calcium carbide / IE| \3?[? %%qu Wa‘f‘s"s’

B). Water and calcium carbonate / Tt 3R FfRgw Hrafae

C). Hydrogen and calcium carbide / ETE'@GH 3R Hfrgn WE‘TS’S’
D). Hydrogen and calcium carbonate / ET_S'@GT:[ \3?[? %%zrtm CAGIEE

Q 95. How is the size of an arc welding electrode specified? / 3 IfET
TATRIS P AMHIR 4 ALY fmar omar §»

A). By its weight / 9% HIR GIX

B). By the metal it is required to weld/ I” PIT P 1%’[12 STAY D YTd gl
C). By its current carrying capacity / $Hab HIT I8 AT g

D). By its overall diameter / g'»sras Hrqpf ATy gIRI




Q 96. Which material can be best cut by oxy-acetylene cutting? / 3 4] -
ufgfedia wers ¥ A uard 99 T el o YHdl g2

A). Brass / giad

B). Cast iron / &ddi FI:TBT
C). Mild steel / Hg ¥Id
D). Aluminium / Q@Iﬁﬁﬂm

Q 97. The gas which is supporter of combustion is ........... / dg g S
Saa- H IgIaH BIal §-

A). Oxygen / NIESIE]

B). Hydrogen / ETS'T;P[\_IT:T

C). Carbon dioxide / BT SIS H TS
D). Acetylene / Qﬁ[ﬁ?ﬁ:{

Q 98. The entrapment of gas in the weld causes the defect ...... / I® o AY
BT Uq Y BT BIRV I 3|

A). Lack of fusion / g Bt HHI
B). Cracks/ QIR

C). Porosity / IXYdl

D). Slag inclusion / UTJAT JHIAN

Q 99. As a matter of safety, one should not do arc welding..../ gX& &

mad §, P & end Af®T 9 S =g -

A). While standing on wet floor/ a wef ux 1@3 Epf$?

B). In poor lighted area / ®H A ard RER:]

C). When someone standing nearby / old ?Jl’ff'&F g H A gl E?f

D). In well ventilated confined area / M| dle sdlial} dfera f?ﬁ H

Q 100. What may happen if oil or grease is used on gas regulator? / &I E:Pf
I g afe T IqAey ux 9 a1 Wl &1 IuAT foar s »

A). Oil or grease may burn / ad o1 AT 9 gHd %
B). Regulator may burn /\Q{laCQ Slel Habdl %

C). Cylinder may explode / Rfisy we g&dr %

D). All of these / I gt




Q 101. The original metal being joined by welding is called ..../ af@T gIxT
SIS MITHA AT DI _______ HE Al 5|

A). Bare metal / 99 UTd

B). Bead metal /Eﬁg Yrd

C). Base metal / STYIX UT]

D). Raw metal / =l UTd

Q 102. Which statement is not true about MIG welding? / g af@T & IR
H ®IF I HYT g A8l |2

A). The speed of welding is high / If@T 31 fa sifd® %

B). There is no slag to be removed / 8CIU ST & %Q a?ré YrgHd :TE?[%

C). The welds produced are sound / Iarfed I ﬂﬁ %’

D). Electric arc is not visible to the operator / Y Bl f&ng EIS %@T“&C

81 gt

Q 103. In electrode-positive welding, ............ of total heat is produced at
the electrode. / SUdclS Uiffed af@T &, SAHRIS UX $d dIT &I
Ianfed g g

A). Two-third /a‘r-ﬁraé
B). One-third / Q&?-ﬁrsﬁ
C). One-half / Th-ATYT
D). One-fourth/ Q$-€ﬁw§

Q 104. What medium is used to dissolve acetylene?/ Qﬁ[ﬁ?ﬂq CIRINEE:D
g fg weaw &1 I far Srar g2

A). Water / qr=t
B). Acetone / T\Tﬁ[a:[

C). Jelly/ Sicit
D). Calcium hydroxide / & ferray ET%'ETWE’@

Q 105. A cylinder which contains acetylene is painted ..... / Qﬁ[ﬁ?ﬁq gad
fafesz & A S B

A). Blue/ Hdl

B). Black/ Tdl
C). Maroon / =
D). Brown / Y1



Q 106. The term used to indicate amount of current flowing in a circuit is

called ........ ) 5 gfde o yarfed @17 arclt Sl AT B NI HA &
T U fPu s A g B HE oIl |

A). Ohm / 31H

B). Ampere/ T;”I?RTT

C). Farad /135?_5'

D). Volt/ ATee

Q 107. What should be used to clean the tip orifice of gas cutting torch? /
A HIed B Ad B! IS B B HIT & [T A I} fbar o1 anfgue

A). Tip cleaner / feg-getax
B). Steel wire / Td &I diX
C). Copper wire / qrE o drR
D). Small drill / Bt f§@

Q 108. Which weld defect can be easily detected by visual examination? /
T U g 5T AT Y FT AT & Ul qIAT o bl g2

A). Lack of side wall fusion / HIgS ard dagq HI HH
B). Root defect in a T fillet joint / T firdc @3 e KIS ay
C). Slag inclusion / YTJHd gHTAY

D). Misalignment of parts / YT BT G\

Q 109. Which one of these metals has the highest thermal conductivity? /

A9 ¥ f5 g urg & 999 fY® WA AradHdm gl g2

A). Aluminium /Qﬂtﬂﬁqq
B). Copper / didl

C). Zinc / Ni®

D). Steel / HId

Q 110. Two plates being welded get pulled towards each other and the

angle between them changes from the originally set angle. The distortion

caused is called .......... / éc—sao“rw:zé?a@r%qaﬁ §H§’H’ﬁ@ﬁ@ﬁﬁ?‘ﬁ%
3R ITF AT B HI0 g *Y J ¢ §U S0 J §3d ordl 8| g1 aran aFpfa
HEad B



A). Universal distortion/ qﬁraﬁa ﬁ?ﬁ
B). Longitudinal distortion / Hﬂ%?ﬁ fapfa
C). Angular distortion / HIoftg ﬁ?ﬁf

D). Transverse distortion / SIJU¥Y ﬁ@ﬁf

Q 111. Which testing method can be hazardous to the operator?/ P At
gderor fAfy offuer & T @IS 8 gt g2

A). X - ray test / USR] - I gAY

B). Ultrasonic test / deciEIf® gd&ro

C). Liquid penetrant test / dX¥d ﬁrﬁréa Ryl
D). Magnetic particle test / JEHIG HU UIF&U

Q 112. Which of these is a non-destructive test?/ 3'_'fff I BT Iq1 Th -
g uderm 22

A). Impact test / 3"533?.' g e

B). Nick break test / A% 9% gdte

C). Tensile test / dSAdIl gteor

D). Hydraulic pressure test / Slsg\liaoh EICRU R

Q 113. The melting point of medium carbon steel is ............. / H&EH CACE|
& &1 TaTE HGi
A). 1510 degree C/ 1510 8%l C
B). 1426 degree C/ 1426 [8W ¢
C). 1305 degree C/ 1305 f$W
D). 1082 degree C / 1082 f&Ut ¢

A). Waste end / JHIR /Y
B). Discard end / Y &
C). Stub end / ®€d &

D). Little end / Bier R

Q 115. What is used to conduct current from welding cable to electrode? /
AfET HIA F IATRIS TP HIC P GATAT HIA & [T &1 GAIT foodm S

87




A). Earth cable / I HId
B). Electrode holder / sachs S\IC'SQ
C). Earth clamp / 3 FAT

D). Cable lug / BT AT

Q 116. What is the open circuit voltage of a welding transformer? / afET
SIAHIHR &1 397 Afdhe A | 82

A). 90 V
B). 110 V
C). 130 V
D). 150 V

Q 117. The welding machine which can supply both AC and DC../ afedT

=T S Ac MR pe I B IMYfd B TH B-

[T FveR

G JYCY

A). Engine driven welding generator / ={UE) arferd d
fad d

B). Motor driven welding generator / Arex =1
C). Welding transformer / afegT ;i{-llbll-lri
D). Welding rectifier / afcg T ¥fdewmrar (Ry®)

Q 118. For gas cutting of 6 mm thick mild steel plate, what should be the
size of the nozzle? / 6 U M Yg ST We &t AW X7 & g, AT &1
THIR T g1 AMfRT?

A). 0.4 mm / 0.4 oL
B). 0.6 mm / 0.6 0L
C). 0.8 mm / 0.8 .
D). 1.0 mm / 1.0 THH.

Q 119. The function of gas regulatoris ............. / g \{{J)Q}ICQ cakcaet

g g

A). To mix gases in required proportion / 3dYdH A JUId # 09 B e
B). To set the working pressure / 1Y a9 B AT HIAT
C). To get different types of flames / fIfys gk &1 & W HRAT

D). To change the volume of gas flowing through the blowpipe/ G_CﬁUT'iq &
wegd I garfed 819 are AW B WIS D gea




Q 120. What edge preparation should be used for welding of 12 mm thick

MS plate? / 12 TBH A TATT We ot If@T & T f5T v MuywT &
I fHar S Arfgue

A). Single 'v'/ RT@ 'v!

B). Double 'V'/ Sdd 'V'

C). Single ')/ RwT@ 'y

D). No bevelling / ®I5 93T (PIRAT) 8!

Q 121. It is easiest to weld in ................ / H A AT 311 @?ﬂ

g

A). Horizontal position / %Trﬁfﬁr yfa

B). Vertical position / S atyz Rufa

C). Overhead position / eﬁ?ﬂ%g fa
D). Downhand position / 3TG:T%U3 fufa

Q 122. Which fuel gas gives maximum flame temperature? / DI ATl g‘c'l:f
A9 HfY®Han @ ITuHT Iar g2

A). Acetylene / Qﬁ[ﬁ?ﬁq
B). Coal gas / HIIa g
C). Hydrogen /BTE'@GF{
D). Liquid petroleum gas / fafes ﬁaﬁfqu K|

Q 123. Spatter during arc welding happens due to ............ / 3 (<T19)

Af@n & v fawa P BT BT 8|
A). High welding current / 3= JfET PHic

B). Use of damp electrodes / 7H 3@[5@3[3 & gaqIT
C). Use of short arc / BT T1T & gaq@IT

D). Arc blow / 3AMdH A

Q 124. What is the purpose of water supply in TIG welding? / TIG Jf@T #
T+t Bt enyfd &1 ITT A B2

A). Cool the job/ TG &I ST B
B). Wash the torch /?.Pfff?b;f UG

C). Avoid distortion / ﬁ?ﬁf I g1
D). Cool the torch / AId &I ST BT




Q 125. The distance from work surface to the top of the weld bead is

called .../ A% HdE Y AT §I€ & WY P P g3 &I
gl

A). Bead width / §1S ASTS
B). Reinforcement / ﬁ_ﬁ'—Gﬁ$TUT
C). Penetration / ‘ﬁa:[

D). Fusion zone / AT S

Q 126. If the weld does not combine with another weld or the base metal,
itisreferredtoas ........oceeevnnnn. / af¢ 9w g%l?i 4 T YR Wﬂ%ﬂT?‘f
YqIfd 98T giar g, df 39 & w1y # geffa fear srar g1

A). Incomplete fusion / 3{11Uf Jagqd
B). Incomplete bonding / G{Q\Uf Y9
C). Incomplete penetration / G{EUf qgT
D). Incomplete inclusion / G{H\Uf NRERIE]

Q 127. Vapours of lead, zinc and cadmium ............ / FﬁﬂT, ST 3T
»shgn & ary-

A). Can be ignored / ASR 3G foar o1 g dn %

B). Are highly flammable / N IR NE R %

C). Are hazardous / ddX-ldh %

D). May cause slag inclusion / YTgHT JATAY BT W?UTEPT H$?f%

Q 128. Normally acetylene should be discharged from a cylinder at a rate

which will empty it in not less than ........... / ATATR U Rifdsy & 3
TRyfecliq & 39 gX U Aerar s wifgu S fb 39 I HH | @rdt A
DY |

A). 2 hours/ 2 ge
B). 5 hours /5 e
C). 8 hours / 8 ge
D). 10 hours / 10 e

Q 129. The type of electrodes which pick up moisture easily is / ‘s’?raej‘s’
BT UPIX S TH! BT A § b Sl §-



A). Acidic coated electrodes / Ity Afug ‘s'@rairg
B). Basic coated electrodes / Hdl afoa ‘s’@raej‘s’
C). Rutile coated electrodes / ¥Clgd afoa ‘s’@raejtc:

D). Titanium coated electrodes / ag%ﬁmﬂ afug ‘s’@raejg

LEVEL 1 ANSWER KEY

Question No. |Option JQuestion No. |Option fQuestion No. |[Option JQuestion No. [Option
1 D 41 B 81 D 121 D
2 B 42 C 82 C 122 A
3 A 43 C 83 B 123 A
4 D 44 D 84 D 124 D
5 C 45 C 85 C 125 B




6 A 46 B 86 C 126 A
7 D 47 C 87 C 127 C
8 D 48 D 88 D 128 B
9 A 49 A 89 B 129 B
10 c 50 D 90 A
11 D 51 D 91 C
12 A 52 C 92 B
13 A 53 A 93 B
14 D 54 A 94 A
15 C 55 B 95 C
16 C 56 D 96 C
17 C 57 D 97 A
18 D 58 A 98 C
19 B 59 A 99 A
20 D 60 A 100 D
21 B 61 A 101 C
22 B 62 C 102 D
23 C 63 A 103 A
24 B 64 D 104 B
25 D 65 A 105 C
26 c 66 D 106 B
27 B 67 A 107 A
28 B 68 C 108 D
29 D 69 B 109 B
30 A 70 C 110 C
31 B 71 A 111 A
32 C 72 D 112 D
33 C 73 D 113 B
34 C 74 C 114 C
35 D 75 A 115 B
36 C 76 B 116 A
37 D 77 D 117 D
38 D 78 C 118 C
39 B 79 C 119 B
40 D 80 D 120 A

WELDER (GAS & ELECTRIC) THEORY LEVEL-2

Q 1. Identify the welding joint shown in the picture.\ IEER:E-LE] Ry
3fET SIS &t ggaH Y|

A). Tee joint\?ﬁ\_rhg

B). Corner joint\ P \_rﬁg
C). Butt joint\ §¢€ SIIg

D). Lap joint\ L) Gﬁg



Q 2. Combustion of oxy-acetylene flame produces about
centigrade temperature.\ 3T t- Qﬁ[ﬁ?ﬁq SaTdl & ced T ATHT
fs AT qaruarT ST A | |

A). 2400 to 2700\ 2400 ¥ 2700
B). 1800 to 2200\ 1800 ¥ 2200
C). 3100 to 3300\ 3100 ¥ 3300
D). 1825 to 1875\ 1825 ¥ 1875

Q 3. Acetylene gas is composed of carbon and

HIaT 3R J frasI 9t gidt g1

\ Tiyfech= A9

A). argon) 3t

B). nitrogen\qT_&'_g\Pfo:f

C). oxygen\ RIESISE]

D). hydrogen) ETE'@\_IT:T

Q 4. The color of the acetylene gas cylinder is
&1 37T g g |

\ TRafedta a9 RifeisR

A). green\gXl

B). black\hIdl

C). maroon\'ER?-_-T

D). blue\=dr

Q 5. Which gas cylinder is also called as DA gas cylinder?\ fFg 19 RrdsT
@I DA T RaeR ot Hgr oram g2

A). Acetylene gas cylinder\ Qﬁf%?ﬁ:f Ty Ryfersz
B). Oxygen gas cylinder\ SffgierT g fRfdse
C). Argon gas cylinder\ 3T g yfersz

D). None of these\ 5"H:I' I CI’;Isr "IE;nI'

Q 6. 1 volume of liquid acetone can dissolve

volume of acetylene

gas under normal atmospheric pressure and temperature.\ dXd Qﬁfaq P
1 3{TITT QAT AIGHS AT gaTg 3N dIUAT & dgd Rfedta 9 &

AMd B U ghdl g

A). 10

B). 20

C). 25

D). 30

Q 7. Which one of the following is a type of gas regulator used in oxy-
acetylene gas welding?\ fFAafafada T I BT Th DI DI g Aarae %
o effedt-uffeeh= T afdw & Iuai fear Sran g2

A). Single stage regulator\ Tdhd IRU[ IGRIEE



B). Double stage regulator\ gy I Haras

C). Both single and double stage regulator\ ¥hd 3T Eﬁf{ﬂ EELRERIEED
EE|

D). None of these)\ Er:fﬁ I Ehlf_ﬁc :r‘s"r'

Q 8. Identify the equipment shown in the picture. \ EER:E-LUE R
SUBIU Bl UgTTT BN |

A). Gas regulator\ g Aaras

B). Welding blowpipe)\ f@T q7$:ﬁ

C). Tip cleaner)\ IBCEENIGE

D). Spark lighter)\ T NIEERS

Q 9. In oxy acetylene gas cutting torch,the angle of the cutting nozzle
with the body is ___ degree.\ 3ifqll TRIfeel= 9 &4 ofd &, &d= Aiwa
A S A ___ st &1 S grar g |

A). 45

B). 60

C). 90

D). 120

Q 10. In oxy acetylene gas welding blowpipe, the angle of the welding
nozzle with the neck is ___ degree.\ TRt Qﬁfﬁ?ﬂq g afEgT §$:ﬁ ﬁ,
A% & iy AfZT AT w1 Hu I S g

A). 45

B). 60

C). 90

D). 120

Q 11. How many control valves a welding blowpipe has, to control the
flame? \ SATAl & FIAT HI7 & AT tF If@ET G # fHaa Adasw are
ga g2

A). 1

B). 2

C). 3

D). 4

Q 12. Leftward welding technique is also calledas A arHTad afeeT
ddbHld Bl W H71 S




A). forward technique\ I aHNH

B). backward technique\ UYadl dHHrd
C). backhand technique\ aob%'s dHH®
D). interior technique)\ AN dHH

Q 13. One function of flux in gas welding is

&1 TH B =

A\Tg If®T § mas

A). to merge metal oxide\¥Tq \3‘I'TE|'\EIT3€ P g &I

B). to reduce the melting point of the metal \ ¥UTq & TIPS B BH BT
C). to increase the temperature of flame \ wdldl CAGICR:] Q@ DAl

D). to clean hose pipe\ IS argy P B HIAT

Q 14. The liquid temperature of the filler metal used in brazing is more

than________ degree centigrade.\ ST & Ugdd G U1q &1 avd araqT=
________ g7 IdUs § orfdw grar § 1

A). 150

B). 450

C). 723

D). 100

Q 15. The size of cutting nozzle used in oxy- acetylene cutting process
depends mainly on _____ O\ STt uffedis e &t ufsar 4 ugaq &T
AT BT MHR T FY A X AR FHRar g

A). thickness of metal to be cut \ HIET ST ard Yrd Pl IﬁETé
B). purity of oxygen \ SRS Dt e dl

C). duration of cut \ ®<C CARS IR

D). type of cutting blowpipe \ FHET & qIgy ol YhIR

Q 16. Which of the following is a gas welding defect?\ fFofafea 7 9 BT
T UF NG IFET AV R?

A). Crack\ &Y

B). Porosity\ IEIEGEI

C). Lack of fusion\ TdA ot HH

D). All of these \ I gt

Q 17. Which of the following is used to enlight the flame in oxy-acetylene

gas cutting?\ Fafrf@a # § fog® Iudin sfedt-ufafeda fg sfta d @
& Ugg BT & AT fHar Srar g2

N I\

A). Electrode holder\ SUHRIS I
B). EIectrode\gaaﬂg

C). Spark lighter\ WTHh NIELES

D). Tip cleaner\ ICEESIGES




Q 18. What is the unit of electric current?\ ﬁaﬂ?‘f ¢TI Bt ‘5@% T Bpf?‘ﬂ %?

A). Volt\dIee®

B). Ampere\QEﬂqT

C). Ohm\3fI&

D). Meter\IﬁET

Q 19. The pressure which makes the electric current to flow is called

.\ 98 T919 ol faggd UdIg & uaIfgd Sl g, HEAT & |

A). Electric current\ ﬁﬂ:ﬁﬂ IR

B). Electric resistance\ﬁ@?‘f ufady

C). Conductivity\dIdadl

D). Voltage\ drees

Q 20. Which machine changes AC supply to DC in arc weIding?\3‘|T$ af@T

T Tt & St onyfed & w9 ot wefT seadt g2

A). Transformer\EATHU’TTf[?

B). Blow pipe\G_Q'ﬁtngq

C). Welding rectifier\ dfcgT Yfaewmrar

D). None of these\ E':fﬁ I fb;f'ig '_-fébf

Q 21. Which of the following is AC welding machine?\ fFofafea 7 9 DI
T T O=iq B2

A). DC motor generator) St "AieX §aveR

B). AC welding transformer\ Qﬁf arC\S‘I gi{-IUnIl-IrQ
C). Rectifier set\ IfFewgr Ae

D). None of these\ sdal' I or?|=£ '-Isnl'
Q 22. Which of the following is a welding position?\ fofafea # 9 BT
T afET fufa 32

A). Flat\ ¥§UIc

B). 2F

C). 3G

D). All of these)\ T gt

Q 23. Which of the following is weld symbol for seam joint? \ fgfafaa #
J B 91 97 g & I I udi® 82

A).

B).

C).

D). None of these)\ _s':fff I Eblfé '_‘ffﬁ

Q 24. Which of the following is an effect of long arc? \ fgfifea 7§ 9 G|
dd 3MTh BT UUTT B2



A). Less spatter\ ®H IEGEIE]

B). More fusion\ HfgH AT

C). More spatter\3{f€fa3 IEGRIE]

D). None of these)\ 3:[ﬁ I ﬁé :ng

Q 25. An imaginary line passing through the weld center lengthwise is
known as \ AW &% B dars | ToRA aidl TP ST d 3@T i

P EY T 11 Arar g

A). Weld rotation)\ GG ‘Q;Uf:f

B). Weld bead\ a4 &S

C). Weld slop\ I Wy

D). Axis of weld\ AT BT 38

Q 26. Straight polarity is also called as
Hg Al 5 |

A). DCEP

B). DCEN

C). MMAW

D). GMAW

Q 27. When the arc deviates from its regular path due to the magnetic
disturbances it is called \ 9T ATH EDHIT YT F HIR U4 FAaffd

gy g YeH SNl g al 59 ______ HgI ol 3 |

A). arc blow\ 3MPb A

B). overlap\B'ﬁ?ﬂaU

C). undercut\3EIHT

D). arc trap\&ﬂé Eq

Q 28. Tip orifice of blowpipe nozzle should be cleaned with ___ .\ §7$7‘ﬂ
S AP TS IUE D ____ G AP HIA AT

A). soft copper wire \ Tqioe dier aras

B). steel wire \ Trd arax

C). a small drill \ Th Bl 1?5?1

D). tip cleaner \ IMCEESIGES

Q 29. Which of the following safety instruments is used to protect the
eyes while doing grinding? \ ‘/{I’i;i%"l HId IHY 3@ & g91d & ﬁ“m
frafafaad & ¥ &9 e QYT &1 3@ fear orar g2

A). Hand screen \%US' Thi

B). Helmet \ %ﬂﬁ?‘f

C). Chipping goggles \ EICURIRG]
D). Chipping screen \ fafiT woia



A). 1.25 to 1.3\1.25 ¥ 1.3

B). 1.4to 1.5\ 1.4 9 1.5

C). 1.8 t0 2.2\ 1.8 9 2.2

D). more than 2.2\ 2.2 T 3fd®

Q 31. Which of the following is a cause of undercut in welding?\ fAgfafaa

T A DI IfET & 3iSIhT T PR B2

A). Current too high\ dgd HfYF HIT

B). Current too low\ dgd ®H PHIT

C). Use of long arc \FTFSﬂ 3T BT YT

D). None of these\ sqﬁ T EI?:TE; :fgbf

Q 32. The third digit of number 7018 in American electrode coding E7018
indicates \SARIS P! HANRDBH HIfET e7018 § A@AT 7018
&1 dI 3fH B! GHd HIAT E |

A). Tensile strength of the joint\\fl\ls. &1 919 graad

B). Welding position\a%"f P! Rufd

C). Type of flux coating\ Tlcddd AU B B

D). Welding current and voltage condition\ IR 913 Y e &) fRUfy
Q 33. Which type of power source is used in gas metal arc welding?\ g

yrg % AT # 5w R & Wfaq @d &1 gaIT fban oran g 2

A). Constant voltage\ g e

B). Constant current) IERGRIE

C). Constant resistance) Fag ufady

D). None of these \ 3'_'“3[ I ﬁ'sc b '_'Té)f

Q 34. Which of the following metal transfer mode in MIG welding is also
called as dip transfer? \ MIG afEn # Fufafea & I feg rg 3T NS I
f&T siavur o &g Sram g2

A). Spray transfer\ PBIR 3T

B). Short circuit transfer\ aq-trﬁtru 3o

C). Globular transfer\*d\lgc'li 3

D). None of these)\ g:fff I ﬁ% :fgf

Q 35. Which of the following is a part of wire feeder of GMA welding?\

Fofafad & ¥ P17 ema ITET & I BISI T U B 872

A). Drive moter\ 9Igd e
B). Drive roller\ gIgd PUGES



C). Wire spool holder\ a1a% {d §IEX

D). All of these \i‘r gt

Q 36. The last digit in American coding of GMAW wire electrode E 70S-2
indicates \ GMAW dRR 3daere & AARD! SIfET € 705-2 # 3ifdH 3w

_____ HUGKCRGIR

A). Tensile strength of the joint\Gﬁg P1 d=Tg qraA

B). chemical composition of wire\dIX CARIGIPIEEIREEE]

C). Type of flux coating\ I AT BT YHIR

D). Welding current and voltage condition)\ AT U137 3 Qe o1 RuUfa
Q 37. In FCAW, the deposition efficiency is generally in

between A\ FcAw B, &9 & AT

TR

A). 20% to 30%\ 20 % T 30 %

B). 30% to 45%\ 30 % g 45 %

C). 60% to 66%\ 60 % | 66 %

D). 80% to 86%\ 80 % U 86 %

Q 38. Which of the following gas is used for shielding purpose in GMAW
apart from argon?\ fofafea # 9 I A AY BT IUANT T & 3farar
amaw H uReur 3T & forw fear rar g2

A). carbon dioxide\0bl®|r"| SI$31\IJCR-II$5

B). nitrogen\'_-IT'&'?ﬁGf:f

C). oxygen\ KIESINE]

D). hydrogen)\ BT'&'@GT:T

Q 39. Which type of power source is used in TIG welding?\ TIG Jf@T #

59 gb1Y & Wi w@rd &1 yaiT fear orar g 2

A). Constant voltage\ g e

B). Constant current) IERGRIE

C). Constant resistance\ Faa uyfady

D). None of these \ 3?'&[ I ﬁ'sc | :fﬁ

Q 40. Which part of the TIG welding torch holds the electrode?\ TIG af@m
erd BT DI T HITT ATRIS B! IH ST |2

A). Nozzle\ AT

B). Collet\ Fifae

C). Back cap\ 9% HT
D). Lead\ SIS

Q 41. Gas nozzle of torch used in gas tungsten arc welding is made of

AT T e IFR®T | uAT g7 ard o &1 g Ao BT



A). pIastic\TITf@$

B). copper \didl

C). glass\ G|

D). ceramic\ Riyfas

Q 42. Identify the equipment shown in the picture. \ﬁﬁ T guia u
JUDHU B UG HY |

R

= 0

o

~

A). Gas regulator\ g Aarae

B). Flowmeter\ TarHeR

C). Collet\ dIfdie

D). Torch\ E}[’Ef

Q 43. Melting point of pure tungsten is approximately __ degrees
centigrade.\ Y& STTEA B TAAH ATHT g3t Idvs a1 3|

A). 2050

B). 2550

C). 2830

D). 3380

Q 44. Which of the following statement is true? \ Fofafead 9 BT A
HYT F5l g2

A). Argon is a colourless gas \&II‘IC"I Udh Q‘IE?I"I Iy %

B). Argon is heavier than helium \GITTf'_'T ?ﬂ%ﬂm I T E?f?ﬂ %

C). Helium is a colourless gas \ éﬂ%ﬂm Th T‘T?F‘T g %

D). All of these\ T gt

Q 45. What is the purpose of inert gas used in TIG welding?\ TIG CIUE:]
3fpa 19 &1 IUAT fby I5=F ¥ foam e g2

A). To protect the molten metal from the atmospheric contamination)\
fUgd gU o1 ! aIgHSHUY Igu ¥ 94914 & g

B). To contaminate in the weld metal\ I 4rd i H@WUT & ﬁ—rq

C). To stabilize the Arc\ 3P B RYI BT F ﬁﬂf,

D). To get more spatters)\ 3fiH Wex Mg HI4 & ﬁ*m

Q 46. Which of the following statement is not true about submerged arc

welding?\ EASS 3% If®T & I} # Fgfafaa # 4 &9 a1 $y7 g8 98
g2




A). No spattering occur in this welding.\ 9 IfET & fvdug :ng Eﬁ(—‘ﬂ %

B). Welding can be done in flat position.\ IfET gure fufa & &t o1 g&dt
g

C). Welding can be done in overhead position.\af(‘l‘g"{ ol Rufa 7 & o
I §

D). None of these)\ Er:fﬁ I ﬁé :ng

Q 47. The electrode used in the spot welding is made up of which metal? \

Wic af@T & ugdd sAdrs by urg & 91 g g2

A). Copper \ didl

B). Brass\‘ﬂ?‘fa

C). Carbon \Wé:[

D). Aluminium \Q@Iﬂﬁqq

Q 48. Which of the following can be easily be welded from flash butt
welding process? \ FufIfad & ¥ &3 srarit ¥ waiw g IfET ufpar 3
aeE foar o1 g&dr g2

A). Cast iron\ aaa?a‘ra
B). Lead\@fg

C). Brass\ iG]

D). Mild steel\Hg Id
Q 49. Projection welding and seam welding are the types of
welding.\ WIoaRd af@T o i\ af@™

IfRT & TP T |

A). Gas metal arc welding\ g Yrg 3P IfET

B). TIG welding\TIG df&™

C). Resistance welding\ ufady afET

D). Friction welding\ gyur afET

Q 50. Which of the following should be used to remove slag and oxide
after welding cast iron? \ gdal C1\I-E\§ P! AfET & uara YrgHl 3R \’rl'\faﬂng
@1 T4 & T A9 # 9 foger gaim s A1fg e »

A). Tip cleaner)\ feg s

B). Ball peen hammer\ CINRCIE] E’QﬁST

C). Wire brush\ dlgx §x]

D). None of these)\ 3:rﬁ I ﬁ% :fgf

Q 51. What type of filler rod should be selected to prevent weld decay in
stainless steel welding? \Q%:T@RZT T Pl AT H 3T &T B AHA & 1%‘[12
fHd UHIR Bt Qb BS BT I b1 W11 A1fgu?

A). Columbium base\ aﬁqfﬁmn STYTY
B). Copper coated mild steel \ didl afud Hg gWId



C). Super silicon\ §Ux IRINCIG]

D). None of these)\ ‘s’:rff I a’ﬁé :ng

Q 52. The preheating temperature of the workpiece can be checked by
\ BIAYS & gdargs araard i gI_T S off Y&l g |

A). touching with finger\ It @ Wl

B). pyrometer \mgfrrﬁ‘c’?

C). temperature indicating crayons\ dIUHld S’ﬁf?‘f HIT 1A HATY

D). thermocouple\ﬂﬁ?ﬁqa

Q 53. Which type of oxy-acetylene gas flame is used for gas welding of

pure aluminium ?\ Y& THHATT $ 79 If&T & AT fH5T UHR & SfiRi-
ufyfedia A9 ww &1 AT far s g2

A). Neutral\GaTﬁf:[

B). Carburising\ CAEGIE]

C). Oxidising\ MR HIND

D). None of these\ sqﬁ I ﬁ‘&g :ng

Q 54. Which of the following is not a property of aluminium? \ﬁgﬁf@ﬂ
& ¥ oI 9 TgH{aT &1 70 98 82

A). Good thermal conductivity\ 3B AU IrdAHdl

B). Good electrical conductivity \ 3] fang EINES]

C). Light weight\lﬂ?ﬁgaaﬁ

D). Bad electrical conductivity\ WXId f&qu EINEZSI

Q 55. Which of the following term is related to welding?\ fFafafea# 9
DI T Usg AfET § AT g2

A). WPS
B). AWS
C). WPQ
D). All of these\ T gt

Q 56. Izod and Charpy machines are related to

3R Tl HR gferor ¥ Gefig g1

testing.\ 39S

A). Impact\gUTd

B). Ductility\d=adI

C). Hardness\ HBIT

D). Creep\ HIg

Q 57. Which quality of material can be tested with the help of Rockwell
and Brinell test? \ JAHAA X fg7d gteror &t wgraar § uard & &g qur
&1 A& fbar o g g »

A). Hardness\ HIIAT



B). Malleability\ sraragd=aar
C). Elasticity\UdT¥Ydl
D). Ductility\d=ddI

Q 58. In dye penetrant test the penetrant passes into cracks by

action.\ $18-Uice gdeu d, Ufide qar |

_______ fopar gIvy oiRar g |
A). capillary\ FRIFT

B). friction\‘JEfUT

C). radiation\ﬁﬁ;?UT

D). conduction\Udigeh ™

Q 59. In which of the following test, sound waves of high frequency are
used? \ MAfafad 4 @ fow udeo o 3= snghy & @ a3 &1 Iudm

far Srar g2

A). Pressure test \ ald g
B). Impact test\ Tord gre
C). Radiography test \ XTSTUTwT gdtern
D). Ultrasonic test \ &[R,\Tl:ﬁﬁ$ Uﬁ&‘[UT
Q 60. Gamma rays are produced by

fAffa i<t 21

A). Iridium\g3ifEaH

B). Cobalt 60\ DIFIT 60

C). Titanium\agéﬁqﬁ

D). Tungsten\ RIESG|

Q 61. Which metal alloy is used to make contact tip of MIG welding torch?
\ MIG df@T ofd & Tudh fou 17 & Y fe g urq & By org &1 IuAT
fopa S &2

A). Copper\ didl

B). Aluminium\ TgHIAgH

C). Mild steel\Hg S¥Id

D). zinc\f\lr'f$

Q 62. Which shielding gas is used in TIG welding? / TIG IfgT & Hrad
& B3 Tt NG &7 gaqIT g 37

A). Hydrogen / BT"{@\_ST:{
B). Nitrogen / ATS gl
C). Argon / 3

D). Ozone / NN

Q 63. Which of these is not a resistance welding process? / _s':fff J HiT It
U yfary I ufsar A8 32



A). Projection welding / uroleRrd afegT

B). Seam welding / dg af@T

C). Flash butt welding / t.FaQT g af@T

D). Carbon arc welding / PId 3 @

Q 64. A single V edge preparation is used when plates .................. thick
are to be welded. /91§ _________ Hiers @1 Wl ®f A fbar s g @ th
R v T oY== &1 ga far S g |

A). 1to 5 mm /195 e,
B).5to 15 mm /5 ¥ 15 .

C). 15 to 25 mm/ 15 ¥ 25 O,

D). More than 25 mm / 25 . 9 sifd®

Q 65. The welding process which requires flux in granular formis ............

/ afET ufpan 99 GATR FU & "R ST IS Bidl § I8 ©-

A). Gas welding / g af@w

B). Submerged arc welding / IJsHS 3P afcdT

C). Manual metal arc welding / ﬁﬂ\?{ﬂ AT s IfET
D). Thermit welding / yfife afgT

Q 66. The oxy-acetylene flame used for welding of aluminium is /

TgHian @ AT & T ugaa siiRf-tiifedi= ot @

A). Oxidizing flame / STRIBI ol

B). Neutral flame / dC¥ o

C). Neutral flame with little haze of excess oxygen / fafvad sifadisT &t
NI gy Ifed dezy @t

D). Neutral flame with little haze of excess acetylene/ faiad Qﬁ[ﬁ?ﬁq
o NI gy feT dey @t

Q 67. A device used to keep the parts to be welded in alignment is called
..... / AT T S ared WIT 1 WY@ H 7@ & fIT yAi g arcit fgarsw
HEAA T

A). Welding jig / If@T o

B). Welding fixture / AfcdT flhagay

C). Welding positioner / @7 grei=raR

D). Welding manipulator / af@T EI-‘Ihlgl('\h:{

Q 68. The process which uses non-consumable electrode is .../ ﬁ?-gqﬁf@

SATIS T IUAT B arelt uiohan g -

A). TIG / dr3mssit
B). MIG / f&T

C). MAG / THTSH
D). SAW / TIUS Y



Q 69. What will happen if the blowpipe while gas cutting is moved to and
fro frequently? / 37X 19 HfET & I AT ST IR-9R fgarar sng
T BIT?

A). The kerf will be narrow / e BT AT ot EPTTIT

B). The kerf will be wide / FHIea &1 [T Eﬁ@T EP[TIT

C). There will be no effect on the kerf / e & [Agra ur ﬁé PRIIGH W_Eﬁ'
BIM

D). The kerf will be of correct size / e &1 [T “VT_GQI HTDIT P BBITIT
Q 70. Cast iron can be best welded by .................. / &ddi ?ﬁ%ﬁ
________ ST A9 3|1 AT [bal o &l g |

A). MIG welding / T af@w

B). TIG welding / dT3msS afe@™

C). Arc welding / 3 IfET

D). Gas welding / T IfET

Q 71. What type of weld is obtained when two pieces of flat bar are
joined to form T ? / OI§ T §14 & [T YUIC &R & &l HSI B Silel STl §
@ {5 UHIR T 9T U il g2

A). Butt / dC

B). Fillet / flhaiT

C). Lap / ?ru

D). Edge / UG

Q 72. Which type of non-destructive test is suitable to check the internal
defects in high pressure boiler welding? / 3= qdld gigar daf@T #
faR® AW FI oiF HIA F AT fFF e &1 WR-AweErd udero Iugad

87

A). Radiographic test ) Xf&Tr mihs gderm

B). Visual test / ﬁ'qa{a g e

C). Magnetic particle test / ﬂaﬁq S g &

D). Dye penetrant test / i) ﬁﬁae gder

Q 73. Which of these is an example of plastic welding? / ‘5'-H:I' q or>“|-w|
WRe® ITET &1 TH I3IEIT 82

A). Arc welding / 3d afET

B). Gas welding / g afET

C). Thermit welding / yfife af@T
D). Forge welding / BIe af&T

Q 74. Which of these rays are not produced during arc welding? / 3

AfFET & AT 795 J o9 A S0 ITF 981 I 72



A). Infrared rays / 3dX¥dd fHof

B). Ultraviolet rays / g fHI0f

C). Visible light rays / g e B

D). Gamma rays / TITHI feHvof

Q 75. Heat-affected-zone is that portion of the metal which .../ dlU-
TUIfId-&F 4Tg &1 I8 HIT § S -

A). Melts and becomes plastic / fudar % GﬁT e I9dT %

B). Neither melts nor becomes plastic / o fUgaar % 3‘?[? - ‘5? Wi ®
§9q1 §

C). Melts but does not become plastic / Ogdar % dafeT wifes :fg)f d-dl
g

D). Doesn't melt but becomes plastic / fogadr WE?[% AfeT wifes gadar %
Q 76. AWS code for electrodes starts with E followed by a 4 digit number.
The third digit represents ..... / 3@[5@3{3 & ﬁ“ﬂ;f AWS HIS E I Y= _E?f?ﬂ % \3‘?[?
3P TG 4 3P I GBI gl gl g 3fd yefa &3 8|

A). Type of flux coating / UcIdd PIET BT GBI

B). Welding position /a%ﬂaﬁ fufa

C). Tensile strength of weldment / SIATs &I a=adr grad

D). Polarity / faudiaa

Q 77. One of the reasosn to avoid the use of long arc during welding is
that .......... / ATRT & I Ad Y & ITAIT F 997 BT TP IRV T8 § B

A). It increases open circuit voltage/ dg AT gfbe A B deldl %

B). It gives lack of fusion of base metal / g STYUIR UG *® Idg9 § HHt %{Fﬂ
g

C). The joint will develop cracks during welding / af@T & C?IQI'-I W\IE} QQI\Q.
ITUF B

D). It consumes more electrodes / I8 HfTH 5@10@6 WUd Hhdl %

Q 78. During magnetic particle testing, the best practice is to ../ ajaﬁtr
HU URT & SR, Y 3BT 31 8-

A). Use AC whenever possible / 99 ff dyg Eapf AC BT ITNT HI

B). Use DC whenever possible / SId it dyg Epf DC BT IUTNT B

C). Use at least 100 amperes / ®H ¥ HH 100 Q"-:qoftf? T IUAIT B3

D). Magnetize the part in two directions at right angle to each other / Ud
GEX BT IR HBI UR & fgxmefi # Wi &l grafed &I

Q 79. A circle used in the welding symbol means that welding is/ af@T

Ui & IUAT ST T a1d Th bd &I AdAd g b g =

A). To be all around the joint / \_Sﬁg & TR 3R



B). To ensure that the subsequent deposits are sound / 8 ﬁﬁfﬁﬁ HIA D
fore i 1% % wraTg e ¥

C). To relieve stresses in the first place / U_G'Fﬁ IR _69[ d-ld g HIT B
farg

D). To remove any excess slag / fedr sifaftad YrgHd A SCI:I *» ﬁ‘fq

Q 80. In a welded joint, the minimum distance from the root to the weld
face is ......... /U% a8 gU OIS H, ©¢ ¥ a4 B ddb &I JgAdH g1

gt g

A). Leg / (Kl

B). Effective throat / JHTat e

C). Length of the weld / TS B Q'Hdlsr
D). Depth of the weld /a@ P ‘TE‘»’QTEF

Q 81. Which of these is the basic characteristic of submerged arc welding?

/ 378 ¥ B & gsAE 917 Af@T $ ga fF™war g

A). Deep penetration / 7TgH Neq

B). Smooth weld / ﬁﬁﬂ CIG)

C). High welding current / 3= If@T Hic

D). All of these/ T gt

Q 82. Among the four modes of metal transfer in GMAW, which one is
least desirable? / GMAW H T TTMHR & AR dAd! A I, HIT I IIY &
CICEIR T

A). Spray / 3|

B). Short-circuiting / e e

C). Globular / Wﬁa;m?

D). Pulsed-spray / Jots-T

Q 83. For gas metal arc welding of mild steel, the suitable shielding gas is

......... / 93 3W1d &1 19 u1g =1y @7 & fag, Iuged afkReor g
gl

A). Carbon dioxide / BT SIZATFAIZS

B). Argon / 3=

C). Helium / Bﬁﬁ«rw

D). Mixture of argon and helium / 3mifa 3T ﬁﬁrunmﬁr%w

Q 84. What will happen in TIG welding if tungsten electrode is connected
to positive terminal? / TIG afEn d qﬁ uifeifes effaa @ e sadt;\\ls
YIS g1 ot 1 gIm?

A). It will cause porosity in the weld bead/ g I §Is ® gIYdl &1 HIR
CEEll!
B). Weld penetration will be shallow and wide/ AT BT UIY HH 3% E?[@T



BN

C). There will be cracks in weld bead /a@ s H g ?f Gﬂﬁ‘ﬂ

D). There will be lack of fusion / IagT § &4t BPfTﬁ

Q 85. What should be the shape of electrode tip for TIG welding of mild
steel? /g 3WId & TIG dfR@T & AT AT KU &1 THIR AT g1 A1RY?

A). Flat end / HUIC IR

B). Spherical end / MR &

C). Pointed end /'_‘ﬁ?ﬁaT? E:E

D). Angular end /ﬁUﬂ’q B3E4

Q 86. What should be done to reduce residual stresses caused due to
welding? / Af@T & SV U HARIY 19 DI T HIA & AT 1 fobar S0
EIY

A). Allow the parts to move freely during welding / @1 & ?f?fQT:f T I
WdT T U ¥ wraralka g1 &1 f3afa €

B). Use "back step" sequence / "dH WY" HH &I YA

C). Use post weld heat treatment / IT & dlq EBfeI I a9 IR BT YA
D). Use "back step" sequence and / or post weld heat treatment / "B
WU HH BT MY/ 1 AW & a1 g4 ard drd IUAR BT JAM

Q 87. The problem of arc blow is likely to happen when .......... / 3Md A
& U™ T g1 YUIfad § 9a-

A). Welding with direct current / fase g1y T afET &t o ?ézf Epf

B). Welding with alternating current / gargdl 41T ¥ Af@T &Y Ll E?f
C). Welding with bare electrodes / 37 50\10@6 T af&ET 3t o ??3[ E»Pf

D). Welding with alternating current and / or bare electrodes / gdradr
g1 ¥ 3 / A1 A7 sAFIS ¥ AT Bt 51 G |

Q 88. It is preferred to have welding shield in black colour. Why?/ afEm
e &1 H1d I F g s @ sran g1 w&ie

A). It gives good appearance / Jg @A o 3T ATl %

B). It better reflects light rays / g UDIX P! fHo @l é‘s'av yfafdfaa
BT &

C). It absorbs light rays / T8 UHIR I [bROI BT HIANT HIAT &

D). It reduces cost of shield / Ig e & HY B HH BN %

Q 89. Which property of metals helps in retaining the molten metal
deposited on the joint when welding in overhead position? / YT &I G|
1 T fiaves fUfd & af@T H3d 977 s ur 9d g5 fUgdh arg & 991¢
@A § 73q HIl 82

A). Density / FYIdl
B). Magnetic attraction / ﬂ'aﬁu AMH YT



C). Thermal contraction / g ?i@a:[

D). Surface tension / Y§ d-ld

Q 90. What defect is likely to be caused if too high welding current is
used? / AfE I IET BT FT I fooa Irar g, O &1 AW A BI
HUTa g2

A). Undercut / 3EIHT

B). Porosity / XYl

C). Lack of fusion / Hdgq 1 HH

D). Excessive penetration / AIfYE gay

Q 91. What defect will happen to the joint if large weld puddle is
deposited in MIG-MAG welding? / ¢ MIG-MAG dfET ¥ 981 9 TS

A 8 ST o S H T Sy g 2

A). Undercut / 38IHT

B). Lack of fusion / I P HHT

C). Cracks / aXIR

D). Lack of penetration / 0gT ° !

Q 92. Which of these is one of the advantages of using iron powder
electrodes?/ SAH ¥ HITH 3IIT YIS IAFRIES YT HIA & aHi # 9
& 2

A). It avoids cracks in the joint / % \ﬂ\ls\l' H U™ ¥ g97d] %

B). It reduces time required to complete the weld / % I &I gxT HIT H
IS AT Bl HH HIdl §

C). It increases the strength of the flux coating / 4% IR PHIET B
gt ® derdl §

D). It improves flow of current through the electrode / 4% 'S'a?@)f_s' &
q1egq J HIC P YdIg b I 2

Q 93. The filler wire used in MIG / MAG welding is copper coated. Why? /

MIG / MAG IfRET H yarw 819 arelt @R i dier afad g1t g =af»

A). To prevent base metal reaction / 3TYIX YIq ufafear &) AHA %%Q

B). To prevent rust / ST A I %Q

C). To prevent contamination by air / §dl q '{-igblUI P AH B %Q

D). To prevent gas shield / g e I 9 ﬁ‘ﬂ!

Q 94. Different shielding gases are used in MIG / MAG welding. Which gas
produces more stable arc than others? / MIG / MAG afET o fafyw
afkReur A9 &1 IUAT fHar Srar g1 B @ A A B ga # e Ry
1Y a1 HR g2

A). Argon / e
B). Helium /Eﬁﬁqu



C). Carbon dioxide / CAGE| ST_Q'G‘I'TWE'_S

D). Hydrogen /BT_Q’S:[\_IT:T

Q 95. Guided bend test is used to determine .......... / Tﬂg%g ] g e
______ fuifkd H37 & fag ga fear arar g

A). Ductility / @EITTT

B). Tensile strength /H:f:f-ﬂTq?ﬁ

C). Impact value / UHIG HIH

D). Percentage elongation /uﬁma deld

Q 96. If cylinder trolley is not available, how should a gas cylinder be
moved? / I RIdeR gicht Suas 7g 8, O 19 Rdsr & F¥ wrAralka
forar s =rfew?

A). Dragging / TIH

B). Sliding / dXhI HX

C). Rolling / @ Pl

D). Tilting and moving / FHTHT 3R RAFGBIH

Q 97. While gas cutting, the nozzle should be ......... / g Hfdm & guy
CIS B GRS

A). Touching the work / g P odl g3l

B). 2 mm from the work / g ¥ 2 iyt

C). 5 mm from the work / I& I 5 e

D). 10 mm from the work / I I 10 oot

Q 98. What is the process called that removes metal from the surface of a
plate to a desired depth? / 3¥ ufesar &1 & Dl Sldl % S Udh e di gde
T gifed TES dF UTg Pl geIdl |2

A). Beveling / SafeT

B). Grooving / Qg

C). Gouging / TaT

D). Piercing / qgT

Q 99. If the fusion of the bead with the base metal is poor, what could be
the probable cause?/ TfE YR 4T & ATY TS HT AATT WIF g, A SHH
FUTFAT HIRO R ) TH T 72

A). Current is too high / ®IT §gd Ial §

B). Current is too low / HIT dgd v H %

C). Arc is too short / dIU dgd Bt %

D). Electrode travel is too slow / 5@[3@3 RERUI dgd e %

Q 100. When depositing the root run on an open corner joint in vertical

position, it is necessary to maintain short arc and a key hole. Why? /

Sty fRUfY # td A &1 A T 39 SIS 3@ gAY, Y A9 3 TH Hoil




¥C Bl I9T¢ IGAT I H ¢ | HI?

A). To avoid distortion /ﬁ?ﬁ A IgIA P ﬁ‘fq

B). To avoid arc getting unstable / dIU CARCIESIR aef Y gI & ﬁf(f

C). To obtain good penetration / =3I UdY U & & %TQ

D). To facilitate for the welder to weld /a('_‘c-;'? & ﬁ‘[q IT ﬁﬁ?ﬂﬁfq$ g1
& forg

Q 101. What makes it difficult to weld cast iron? / &I gddl Fﬁ% P AT
&I gRed F1a1 872

A). Its hardness and brittleness / ‘s’ﬂaﬁ HBIRA 3‘?[? ﬂ-iﬂ??ﬂ
B). Its high compressive strength / DI 3= H'tﬁg:f qraaf
C). Its low melting point / S9PI 3T TAATH

D). Its fluidity / SHBI dXAdI

Q 102. One of the advantages of using DC welding machine for welding is

...... [T T F I AT FI ST A F AN A I TP § -

A). Low maintenance cost / ' H XQGIMI]F d7Td

B). Low welding cost / @ H af@T armd

C). Low power consumption / ®H faad ot @wud

D). Both ferrous and non-ferrous metals can be welded /?ﬁ“’c‘f 3R 31’?‘?[6
QT urgst & IS fHar o b 7

Q 103. The percentage of carbon by weight in acetylene gas is / Qﬁﬁ%?ﬁ:f
A9 ¥ 997 ¥ P99 BT 9fa¥d 6-

A). 92.3%

B). 89.3%

C). 85.3%

D). 78.3%

Q 104. What is the system called when three or more gas cylinders are
connected together? / diF a1 3ff¥® g Rfcied & Tdh 91y ﬁ@' g B
JUTEH &I T BT 32

A). Group system / HHg Ut

B). Compound system /Zﬁﬁf$ Ut

C). Series system / ’}IEFIT Ut

D). Manifold system / fmic (dgHdY) U

Q 105. What type of fire extinguisher is suitable for use in welding shop?/
Af@T * gHA H IUAT & fIT 5w udR &1 s Iugad g2

A). Foam type of extinguisher / I UHIR &1 AUWMHAS
B). Dry powder extinguisher / §T§ PIREEREE IV PIEED



C). Carbon dioxide extinguisher / CAGE GTE'G‘I'THET_Q'E HTUIAS
D). Halon extinguisher / %FIT:[ AT AHS

Q 106. Which type of pipes are welded by uphill welding technique? /
ufed If@T aHF g 5T TSR & WU & dcs fhar oar g2

A). Thin wall pipes / gddl giar ard CIER

B). Thick wall pipes / A dar ara gy

C). Big diameter pipes / a’@;’ 1Y a1 LIEL

D). Small diameter pipes / B 1Y ard urgyu

Q 107. A casting having a crack is to be repaired by welding. How will you
prevent extension of the crack while welding? / Gﬂlé Yad IR P AT EIN

AIMT Bl o1 g | IfRET HIT IHY MY AT & F¢4 B $Y APA?

A). BY preheating / 113‘ GILGEARY

B). By grooving the crack / XX & @iad gl

C). By tacking at both ends of the crack / GUX & &Il R U CidhT AMBT
D). By drilling at both ends of the crack / aXIX & ar Rl oR %ﬁf"[ PID
Q 108. Which resistance welding process will be used for welding thin
sheets continuously? / gdet e & IarR If@T & ﬁ"ﬂ'{ fog ufady afEn
gfhar &1 IUAIT fbar Sem?

A). Spot welding / Wie afET

B). Seam welding / e afdT

C). Projection welding / groiaRTd afes T

D). Flash welding / q?fQT af@T

Q 109. Which one of the following pipe welding positions represents 45°
inclined position welding?/ ﬁf'ﬁﬁ‘f@ﬂ T o grgy af@T @Iﬁf, 45°
ganse fufa AT yefRia sd 2

A).1-G

B).2-G

C).5-G

D). 6-G

Q 110. What will happen if long arc is used in MMAW? / MMAW H dd @1y
ST ITAT HIA U T T2

A). The joint will be strong/ \_rﬁg Hodd aTIT

B). There will be lack of fusion of base metal / YR YTq *» ddaga § ot
g

C). The joint will develop cracks / \FI\I\? TIX IAT B

D). The consumption of electrodes will be high / saq@s P WUd AHfIFH

gt




Q 111. Which metal does not allow X - rays to pass through it? / BT At

Y1g UH-fHRUN B g% mew § oA @1 J3afy A At g2

A). Copper / didl

B). Zinc / i

). Tin / &7

D). Lead /ag

Q 112. Which type of welding requires the use of electrode in the form of
spool? / f&¥ g} &1 AfET & fAT Wad & ®U & gAHKIS & IUAIT Bl
ATILH A gt 872

A). Stick welding / fe® af@T

B). MIG welding / T af&™

C). Oxy-acetylene welding / &ﬁﬂﬁqﬁrﬁ?ﬂq af@T

D). Manual metal arc welding / ﬁq&ra ATd 3P AT

Q 113. Argon is used for welding of stainless steel because ...... / 3T BT

I SIS swrd o AfET F fAw fFar sdr g Fifs -

A). It isinert / U% BIS:R E-THT %

B). It helps in melting of the electrode / g% '&'@fa@g & fUgda # HGQ hXdl
g

C). It is cheap / g 9l ﬁm%

D). It prevents porosity / g IIYdl g garar %’

Q 114. The term "square wave" is related to ............. / Qo "THTIX Jg-
J g=fyd g

A). Shape of output power / 3H3CYcC UTdR & ATHIY

B). Shape of tungsten electrode / RIETE 5(-'\10@5 & MBI

C). Shape of power source control box / UldX ard m‘@ra S & MBI

D). Shape of filler metal /ﬁﬁa? 4rd & MBI

Q 115. Which property of metal has the biggest influence on distortion

during welding? / Af®@T & T AHfa o= u1g & 5 701 o1 9Y fAH
TuTg §?

A). Modulus of elasticity / ATl ATUH

B). Coefficient of thermal expansion / dIUJ CESIEREIIES {LUIicb

C). Coefficient of thermal conductivity / S I dldb dl & {LUIid'J

D). Yield strength / UITH]J e

Q 116. How to avoid blowholes in weld bead during MIG welding? / o

AET S ATT I Sig & & B1F A Y 991 ol b dl g2

A). By increasing the speed of welding / If@T ot i deldhX
B). By increasing stick-out / gl dglh



C). By setting high current / 3@ HIC AP

D). By concentrating shielding gas on weld bead /a@ 18 U3 g g
B bigd HIb

Q 117. Helium is lighter than argon by ............... / Eﬁﬁqu, AT 9
_______ g B B

A). Six times / &% [l

B). Eight times / 3{1d I

C). Ten times / ¥ 1[I

D). Fifteen times / US® RIGI

Q 118. If the plates to be welded are clamped, how will it affect warping?

/ gfe I B T17 et W HA B, A I AT B HA gurfad I

A). It will have no effect on warping / DI arffr oz a?ré UHIg :fépf @W
B). It will decrease warping / dg arffT &1 &7 S

C). It will increase warping / g% arftf & delu

D). It will have negligible effect on warping / arftfr o3 LYUDT AIUY YHIq
gg

Q 119. Which one of the following is most likely to cause burn through
welding? / Fafafad # 3 5T I & AT Id9 B FHITT 82

A). Root face too small / ¥¢C Db{-l dgd ?S\ICI E?f

B). Travel speed too fast / IR 7Tfd dgd G

C). Root gap too small / ¥C g dgd ®H E?f

D). Travel speed too slow / g7 T dgd Ries] E?f

Q 120. What is the advantage of using copper instead of aluminium in
welding cables? / Af@T Ha@ U THIFIY & IS AT HT IUAIT HIA Bl
1 BT B2

A). Copper is cheaper / SICIKRSES] S\Idl %

B). Copper is lighter / SIEIRGED S\Idl %

C). Copper improves current carrying capacity and flexibility / GICICEH
g8 A R ARATT H YR BT 3

D). All of these/ T gt

Q 121. A triangular-shaped weld symbol represents what type of weld?/
BHIONT PR T I TS (BT UHR & dc8 DI gl §?

A). Fillet weld / AT a8
B). Bevel groove / I9d qd
C). Flare groove / T qd
D). V groove / V ¥d



Level 2 Answer Key

Question No. |[Option JQuestion No. |[Option|Question No. |[Option|Question No. |Option
1 D 41 D 81 D 121 A
2 C 42 B 82 C
3 D 43 D 83 A
4 C 44 D 84 B
5 A 45 A 85 C
6 C 46 C 86 D
7 C 47 A 87 D
8 A 48 D 88 C
9 C 49 C 89 D
10 D 50 C 90 A
11 B 51 A 91 A
12 A 52 C 92 B
13 A 53 A 93 B
14 B 54 D 94 A
15 A 55 D 95 A
16 D 56 A 96 D
17 C 57 A 97 C
18 B 58 A 98 C
19 D 59 D 99 B
20 C 60 B 100 C
21 B 61 A 101 A
22 D 62 C 102 D
23 B 63 D 103 A
24 C 64 B 104 D
25 D 65 B 105 C
26 B 66 D 106 B
27 A 67 A 107 D
28 D 68 A 108 B
29 C 69 B 109 D
30 A 70 D 110 B
31 A 71 B 111 D
32 B 72 A 112 B
33 A 73 D 113 A
34 B 74 D 114 A
35 D 75 B 115 B
36 B 76 B 116 D
37 D 77 B 117 C




38 | 78 118
39 | 79 119
40 | 80 120




